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1
People like barbecuing a lot during winter because they could get warm from the fire at the same time. Meat is pierced on iron forks and grilled over the fire at a distance 20 cm. The meat will be cooked up in 10 minutes. Some people would also wrap the sweet potatoes by using aluminium foil and place them alongside the fire. 

[image: image1.emf]
(a)
Explain why the meat has to be pierce on an iron fork during barbecuing?
    [2]

	

	


(b)
Explain how heat is transferred from the fire to the meat. 


              [2]




	

	

	


(c)
Suggest one advantage of wrapping the sweet potatoes by using aluminium foil.
 












    [1] 

	

	


2
The diagram below shows the temperature of water as it is heated over some time.







State and explain the molecular behaviour of water molecules from 
(a)
3 min to 4 min;









       [2]

	

	


(b)
4 min to 5 min;









       [2]

	

	


3
Fig. 3.1 shows part of a simple thermocouple connected to a sensitive meter. 






(a)
State the materials used for wires A and B.




                   [2]


Wire A: __________________
Wire B: ____________________

(b)
Name the meter M. ________________________________________
                   [1]

(c)
When the cold junction L is placed inside melting ice and hot junction in steam, the meter registers a reading of 20 units. The meter reading changes to 25 units when the hot junction is placed inside a sample of molten solid. Calculate the temperature of the molten solid.






 


        [2]
4
Two solids, A and B, of the same mass are placed in a hot bath and their temperatures are plotted against time as shown in the figure below. (Assume that the rates of heat supplied to A and B are the same.)










(a)
Which of the solids A and B has a higher melting point? _____________
     [1]

(b)
Which of the solids A and B takes a longer time to change state? ________
     [1]

(c)
Calculate the specific heat capacity of solid A if the power of the heater is 90 W.

State the assumption made other than heat lost to the surrounding in order for the calculation to be valid








     [4]


My assumption is

	


(d)
By using the figure, explain why A has a higher specific latent heat of fusion than that of B.










      [2]

	

	


(d)
By using the figure, deduce whether the specific heat capacity of solid A is larger, equal, or smaller than the specific heat capacity of liquid B.


     [2]

	

	


5
Explain why newspaper wrapping keeps hot things hot, e.g. fish and chips, and cold things cold, e.g. ice cream.









        [2]
	

	

	


6
Explain in terms of kinetic theory: 
(a)
Why an aerosol can leave in strong sunlight can explode?


      [2]

	

	


(b)
Why evaporation can occur at temperatures below boiling point?


      [2]

	

	

	


BONUS QUESTION

In an experiment to study the Brownian motion of very small particles suspended in a gas, the particles seem to be moving in an irregular way and are always in motion.

(a)
State briefly what the above description indicates about the gas molecules.                  [1]
	


(b)
Explain why a large particle suspended in the gas would show no detectable Brownian motion. 







                 


       [2]
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